Cenlecs, centealizers, and oncmalizers
Suppese. G is a o and let S=G.
*The center of G is
2(6) = {jec ' YheG, jwnjf}
“The cenlralizec of S in G s
Co(s)={qeG: Vses, ij?.
*The nocmalizer of S in G s
Ne(S)= {jec: JSJ-‘=S'}.

Cirst observations:
"¥seG, Z(6) e Ce(S).
'VSSG} C(;(.Sw ENGCSS.

y Z(G):’ C.G (G)
- ecZ2(6).
*T1f Hs G then H2GC & N (M):=G.

*LE G is Abelian then Z2(6)=C (=N =G.
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Thecefore  q'Sq =S, ) .
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So 97'S9=S , Lhidh mems_(@kﬁ"_ﬁts\g(s).
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Yo show that Ce(s) is o 3""?'

e Ce(N) = C(DN=4.

*TE ghe ColS) then ¥scs,

(gh)s= q(hs)= alsh) =(3s“\‘-(‘s a)h = s(qh)
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-1¢ je Cel(S) then VseS,

qs=sq => s=q7's § =D gq*=q7's =>q7'€ C ().
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G)s ): 2Z(6)s Z2(G)=

N
\
In




Ex st_{i\l LAY :!.Ill !k} ,Q3=<.'J:'>\
) NG NN
* 2.(Qg)= {21 N
¢
|
COh=h(0V, YheQ, = -le Z2(qy) 03

W#l, tkzkl = =i,1i .tk € 2(qy)
Jy Vv 7/ —J7

¢ CQ:(G)) = (\7

1=, YneZ. =2 ie C o (V) = < € Cg (Ki7)

thtk @ Co (<))
3! 3

" Ng (7 = Q

(72 @,  (previous video)

= Cap (L1, 13) = {217

4
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